13.1 The Maillard reaction is

A) The non enzymatic addition of sugars to amine groups.

B) The enzymatic addition of sugars to proteins

C) Responsible for the color and aroma of sautéed onions

D) Responsible for the color of toast

E) All but B.

13.2 A free radical is

A) A chemical with an unpaired electron

B) A chemical with 4 bonds

C) A nitrogen containing chemical

D) A amino acid

E) A chemical that splits the ose from glucose

13.3 Advanced Glycated Endproducts (AGEs) result from the __________attachment of sugars to proteins.

1) enzymatic

2) non enzymatic

3) NAD-dependent

4) light-dependent

5) calcium-dependent

13.4. The formation of Advanced Glycated Endproducts (AGEs) is enhanced by:

1) free radicals

2) bound radicals

3) liberals

4) moderates

5) conservatives 

13.5 An increase in Advanced Glycated Endproducts (AGEs) have been correlated with

A) Alzheimer’s disease.
B) Atherosclerosis.
C) Diabetes.
D) Heart Disease.
E) All of the above.

13.6 Antioxidants:

A) Kill chain reactions initiated by free radicals
B) Inhibit harmful oxidation reactions

C) Include vitamins C and E

D) Remain stable after donating an electron
E) All of the above

13.7. Antioxidants are abundant in:

1) red meat

2) chicken and pork

3) fresh water fish

4) milk

5) fruits and vegetables

13.8 When Joe McCord and Irwin Fridovich suggested in 1968 that superoxide dismutase may act as an endogenous antioxidant they were:

1) awarded a Nobel Prize.

2) offered positions at Cornell Medical School.

3) offered positions at Harvard Medical School.

4) became Deans at University of Pennsylvania Medical School.

5) were laughed at.

13.9. Which of the following organs can be donated from a cadaver?

1) heart

2) lungs

3) pancreas

4) liver

5) all of the above

13.10. Addison’s disease can be treated with ____________.

1) adrenaline

2) cortisol

3) low sugar diet

4) high sugar diet

5) antibiotics

13.11. According to Albert Szent-Györgyi, “Discovery ________________.”

1) is the first step to winning a Nobel Prize
2) is important for driving the economic engine

3) rhymes with economic recovery

4) consists of looking at the same thing as everyone else and thinking something different
5) channel has the best shows on TV

13.12. An inability of scientists to accept new ideas is known as _____________.

1) archeoideology

2) newophobia
3) false dichotomy

4) political correctness
5) static cling

13.12. A false dichotomy occurs when scientists see things as ____________.

1) gentically controlled

2) environmentally controlled

3) either/or

4) cyclical

5) being under the influence of a fascist government

